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WEST BENGAL STATE UNIVERSITY 

B.A. General Part-II Examination, 2019  

PHILOSOPHY 

PAPER: PHIG-III 
 

Time Allotted: 3 Hours Full Marks: 100 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 GROUP-A 

িবভাগ-ক 

 Answer Question Nos. 1 and 2 and any two from the rest within 300 words 
each 

১ নং ও ২ নং pű এবং অবিশŶ pűgিলর মেধ° �থেক �য-�কােনা dিট  pেűর উtর pিতিট ৩০০ 
শেbর মেধ° দাও 

1. Answer any five questions from the following:(within two sentences each) 

িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ (pিতিট dিট  বােক°র মেধ°) 
2×5 = 10

(a) Identify the Sādhya, Pakṣa and Hetu of the following inference: 
িনmিলিখত অনুমানিটর সাধ°, পk ও �হt িচিhত কেরাঃ 
The golden mountain is high because it is a mountain. 
�সানার পাহাড়িট উc, কারণ এিট পব�ত। 

(b) Distinguish between Samavyāpti and Asamavyāpti. 
সমব°ািp ও অসমব°ািpর মেধ° পাথ�ক° িনণ�য় কেরা। 

 

(c) Give suitable example of Purvavat and Śeṣavat anumāna. 
পূব�বৎ ও �শষবৎ অনুমােনর উদাহরণ দাও। 

(d) What do you mean by Pakṣa? 
পk বলেত িক �বােঝা ? 

(e) What is meant by Pakṣadharmatā jñāna? 
পkধম�তা jান বলেত িক �বােঝা ? 

(f) What is Anumiti? 
অনুিমিত কােক বেল ? 

(g) What do you mean by Tarka? 
তক� বলেত িক �বােঝা ? 
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(h) What is the first avayava of a Pañcāvayavī Nyāya? 
পĀাবয়বী ন°ােয়র pথম অবয়বিট িক ? 

(i) What is the meaning of the word ‘syāt’ in Jaina theory of syādvāda? 
�জনসmত স°াদবােদ ‘স°াৎ’ শেbর অথ� িক ? 

(j) What do you mean by sahacāra relation?  
সহচার সmn বলেত িক �বােঝা ? 

  

2. Write short notes on any two of the following: (within 100 words each) 

িনmিলিখত �য-�কােনা dিট  িবষেয়র উপর সংিkp টীকা �লেখাঃ (pিতিট ১০০ শেbর মেধ°) 
5×2 = 10

(a) “Pot is non-eternal because it is produced.” — State the Pakṣadharmatā, 
Vyāptijñāna and Parāmarśajñāna of this inference. 

‘‘ঘটিট অিনত°, �যেহt তা উৎপn হয়।’’ — এই অনুিমিতর পkধম�তা jান, ব°ািpjান এবং পরামশ� 
jান — উেlখ কেরা। 

(b) Definition of vyāpti and its classification. 

ব°ািpর লkণ ও ব°ািpর িবভাগ। 
(c) Jaina Saptabhangi Naya. 

�জনসmত সpভñী নয়। 
(d) How vyāpti is known according to Nyāya Philosophy? 

ন°ায় মেত ব°ািp gেহর উপায়। 
  

3. Explain with suitable examples Kevalānvayi, Kevalavyātirekī and 
Anvayavyātirekī anumāna. 

দৃŶাn সহকাের �কবলাnয়ী, �কবলব°িতেরকী ও অnয়ব°ািতেরকী অনুমান ব°াখ°া কেরা। 

5+5+5

  

4. Critically explain Jaina Syādvāda. 

�জনসmত স°াদবাদ িবচারপূব�ক আেলাচনা কেরা। 

15

  

5. What is Parāmarśa according to Nyāya school? Why do the Naiyāyikas admit 
Paramarśa as the karaṇa of anumiti? 

ন°ায়মেত পরামশ� বলেত িক �বাঝায় ? অনুিমিতর করণ িহসােব �নয়ািয়েকরা পরামশ� sীকার কেরন  
�কন ? 

5+10

  

6. Distinguish between Svārthānumiti and Parārthānumiti. In this connection explain 
Pañcāvayavi Nyāya with the help of a suitable example. 

sাথ�ানুিমিত ও পরাথ�ানুিমিতর pেভদ িনণ�য় কেরা। এই pসেñ একিট দৃŶােnর সাহােয° পĀাবয়বী ন°ায় 
ব°াখ°া কেরা। 

8+7

  



B.A./Part-II/Gen./PHIG-III/2019 

2107 3  Turn Over 

 GROUP-B 

িবভাগ-খ 

 Answer Question Nos. 7 and 8 and any two from the rest 

৭নং ও ৮নং pű এবং অবিশŶ �য-�কােনা dিট  pেűর উtর দাও 

7. Answer any five questions from the following:  

িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10 

(a) Only citizens can vote. Give the logical form of this sentence. 
�কবলমাt নাগিরকরাই �ভাট িদেত পাের। — এই বাক°িটর যুিkিবjানসmত rপ দাও। 

(b) Give the obverse of the following proposition: 
িনmিলিখত বচনিটর িববত�ন কেরাঃ 
Some men are not happy. 
িকছু মানুষ সুখী  নয়। 

(c) Express in Boolean notation and draw Venn diagram: 
বুলীয় িলিপেত ব°াখ°া কেরা এবং �ভনিচেt pকাশ কেরাঃ 
Nothing is both round and square. 
�কান পদাথ�ই একেt �গালাকার এবং বগ�াকার হেত পাের না। 

(d) What are the names of valid moods of syllogism in second figure? 
ন°ােয়র িdতীয় সংsােনর �বধমূিত�gিলর নাম কী ? 

 

(e) Show the forms of Mill’s method of Agreement. 
িমেলর অnয়ী পdিতর আকার �দখাও। 

(f) Symbolize the following: 
িনmিলিখতgিল pতীকািয়ত কেরাঃ 
P is the necessary condition of q. 
P হল q-এর আবিশ°ক শত�। 

(g) If p be false, determine the truth-value of (p ⊃ q). 
যিদ p িমথ°া হয় তেব (p ⊃ q)-এর সত°মূল° িনধ�ারণ কেরা। 

(h) Use truth-table to define the logical connective ‘.’ 
�যৗিkক সংেযাজক ‘.’ �ক সংjািয়ত করার জন° সত°সারণী ব°বহার কেরা। 

(i) What is tautological statement form? 
sতঃসত° বাক°াকার বলেত িক �বাঝায় ? 

(j) Give an example of contradictory statement form. 
sতঃিমথ°া বাক°াকােরর একিট উদাহরণ দাও। 

  
8. Write short notes on any two of the following: 

িনmিলিখত �য-�কােনা dিট  িবষেয়র উপর সংিkp টীকা �লেখাঃ 

5×2 = 10

(a) Boolean interpretation of categorical propositions 
িনরেপk বচেনর বুলীয় ভাষ° 

(b) Material obversion 
বstগত িববত�ন 

(c) Fallacy of illicit Minor and Major (with examples) 
অৈবধ পk ও অৈবধ সাধ° �দাষ (উদাহরণসহ) 
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(d) Rules of conversion. 
আবত�েনর িনয়মাবলী। 

  
9. Test the Validity of the following syllogism or syllogistic forms by means of 

Venn diagram (any three): 
�ভনিচেtর সাহােয° িনmিলিখত ন°ায় বা ন°ায় আকারgিলর �বধতা িবচার কেরাঃ (�য-�কােনা িতনিট) 

5×3 = 15

(a) AOO — 3 
(b) OAO — 4 
(c) No Republicans are Democrats; so some Democrats are wealthy men, since some 

wealthy men are not Republicans.  
pজাতntীরা গণতntী নয়, সুতরাং, িকছ ুগণতntী ধনী, কারণ িকছু ধনী pজাতntী নয়। 

(d) Some scientists are philosophers, since some mathematicians are philosophers 
and all mathematicians are scientists. 
িকছ ুিবjানী দাশ�িনক, �যেহt িকছ ুগিণতj দাশ�িনক এবং সকল গিণতj হন �বjািনক। 

  
10. Test the validity of the following with the help of Truth Table: (any three) 

সত°সারণীর সাহােয° �বধতা িবচার কেরাঃ (�য-�কােনা িতনিট) 
5×3 = 15

(a) (p ∨ q) ⊃ (p ⋅ q) 
p ⋅ q / ∴ p ∨ q 

(b) p ⊃ (q ⋅ r) 
(q ∨ r) ⊃ ∼ p / ∴ ∼ p 

(c) (p ∨ q) ⊃ (p ⋅ q)  
∼ (p ⋅ q) / ∴ ∼ (p ∨ q) 

(d) If terrorists’ demand are met, then lawlessness will be rewarded. If terrorists’ 
demands are not met, then innocent hostages will be murdered. So either 
lawlessness will be rewarded or innocent hostages will be murdered.   
যিদ সntাসবাদীেদর দাবী �মেন �নওয়া হয়, তাহেল �নরাজ°েক পুরskত করা হয়। যিদ সntাসবাদীেদর দাবী 
না মানা হয়, তেব িনরপরাধ অপhত ব°িkরা খুন হন। সুতরাং, হয় �নরাজ° পুরskত হেব, অথবা 
িনরপরাধ অপhত ব°িkরা খুন হেবন।  

  
11. Use truth-table to determine whether the following statement forms are 

tautologous, self-contradictory or contingent: 
িনmিলিখত বচনাকারgিল sতঃসত°, না sতঃিমথ°া, না আপিতক তা সত°সারণীর সাহােয° িনণ�য় কেরাঃ 

5×3 = 15

(a) p ⊃ [∼ p ⊃ (q ∨ ∼ q)]   
(b) (p ⋅ q) ⋅ (p ⊃ ∼ q)  
(c) p ≡ [p ⋅ (p ∨ q)]. 

  
12. Explain and examine Mill’s Method of Difference. 

িমল-এর ব°িতেরকী পdিত ব°াখ°া ও িবচার কেরা। 
10+5

 ——×—— 
 


